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NOTE: On all the problems, please show your work clearly, and
provide the appropriate units for your answers. Also mark on the
schematic to show any current or voltage that you define in your
solution.

1. (20 points) In the electric circuit shown, find the values of the
voltages of the four resistors as indicated. Please show your work
clearly and provide brief justifications for the steps you take. Also,
don’t forget to provide the correct units for your answers! Box your

answersfaf Ba.
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2. (20 Points) Consider the electric circuit shown. Find the value of the
voltage v, across the 66 Q resistor. Show your work step by step
including justifications.

55 Q)
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66 L, + 77(0.32+1 ) — 44 +55(0,33+0y) = 0

o _ Wh-a32 (0.33)
>y = ,) % 00,0022 A
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3. (20 Points) Consider the electric circuit shown. Determine the current
i, that flows through the 6 Q resistor as shown. Please provide your
work step by step with justifications. We ore & {
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4. (20 Points) FFor the electric circuit shown, find the values of resistors
R, and R;. Show your work step by step and provide justifications.

% R=4 kQ

2V ——/——
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L+ 14V

§R3=? 10V

VDP — (‘RL+ R3) (_22) =44V — Rq_‘f‘ R3 = Flesp
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(22) = 40N —> RB'—'- 5l
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5. (20 Points) In the electric circuit shown, apply node voltage method to
solve for the voltage v,. Show your work step by step.
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-p.60f6-




